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1. BERFEEIA
5 T P U 8, 300 8, 500 A 200
ABEIUN 3, 000 3, 000 0
SEIA 286, 800 290, 000 A 3,200
HELA 2, 100 2, 000 100
({) BEBEULAEL 300, 200 303, 500 A 3,300

2. BEXEHXH

D EEEXH
ik B e 5T 24 120, 700 124, 600 A 3,900
FE ) A 14, 250 15, 000 A 750
£y Sl 6, 950 5, 000 1, 950
e S ARy 22, 400 30, 500 A 8,100
it e A% i 3 10, 600 12, 900 A 2,300
IBEIEME S H 8, 250 8, 500 A 250
THFEM A ST 4, 430 3, 800 630
FI Rl SA 2 37 1 7,100 26, 000 A 18,900
XA 31, 950 31, 800 150
HHTE B S 2, 550 2, 200 350
TS BRSO 3, 400 2, 900 500
EEEe S S 1, 600 1, 100 500
TR ST 18, 100 19, 000 A 900
BT ik 4,700 4, 200 500
B4 TH 16, 800 16, 800 0
BT 2, 750 3, 000 A 250
Zere 3 5, 800 5, 500 300
HESTH 500 1, 000 A 500
(VEE3-§7.:5 282, 830 313, 800 A 30,970
@ HEHEXH

ek BLAa -3 HY 28, 000 30, 000 A 2,000
) A e S 4, 250 3, 800 450
£y % Sl 2, 400 2, 500 A 100
B 4, 500 4, 000 500
Jifke Az i 3 8, 600 7,900 700
TIEIEME S 1, 150 2, 000 A 850
THFE( TR &0 2 32 1 200 1, 000 A 800
THEE B ST 1, 000 1, 000 0
EREE S H 500 1, 000 A 500
P A2 32 2, 600 2, 300 300
XA 10, 650 10, 700 A 50
FHPTE A S 850 800 50
S BRSO 850 900 A 50
EESEeE S 200 200 0
BT 200 700 A 500
ZRt B 1, 450 1, 400 50
MESZ 5, 400 5, 800 A 400
() EEEXHE 72, 800 76, 000 A 3,200
(2) EHEFESTHE (A+n) 355, 630 389, 800 A 34,170
(h) BEEENNZ EZ8E (1-2) A 55,430 A 86,300 30, 870
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1. BEZEUWA
@ FEREEDEHRA
JAMAE AN 5| 24 & PE R AR UL 3,221 5,774 A 2, 553
bk 4 B A ST P U LA 10, 000 30, 000 A 20,000
60 4 95 SR LB PE IR I 20, 000 A 20,000
(n) BB FENURAE 13, 221 55, 774 A 42,553
2. REFHXH
D FEREENB/XH
JRHERAA AT 5| 24 PE U 3T Y 4, 420 5, 309 A 889
B BRI 55 51 24 & FE IS 3 HY 1, 352 A 1,352
DA AE AN 5| 24 & o B A 3 2,553 2, 154 399
708 4E S AE L PE S 3 2, 000 2, 000
@ BEE&EENSXH
AT 250 o A S HH 1, 000 1, 000 0
(N & EEZHA 9,973 9,815 158
(FFEETRNZEE (-1 3,248 45, 959 A 42,711
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1. MHEEIUA 0 0 0
() AT B BHUR A BT 0 0 0
2. MBEBXH 0 0 0
(R) AF BB H AT 0 0 0
W) B BESHNZEE  ()-3) 0 0 0
IV PIREXH 0 0 0
(7) HHERUR T = (b+F+1) A 52,182 A 40,341 A 11,841
OFIECE T2AVE -2 59, 400 59,127 273
(h) REAEBANZ ZEE  (3+7) 7,218 18, 786 A 11,568




